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1. Factorise :

z? + 9z + 18

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_6Rju9d6w9hTj

2. Factorise :

22 — 10z + 9

o Watch Video Solution

3. Factorise :

y? + 24y + 144

o Watch Video Solution

4. Factorise :

5y + 5y — 10



https://dl.doubtnut.com/l/_6Rju9d6w9hTj
https://dl.doubtnut.com/l/_DwdW6cfSKRLs
https://dl.doubtnut.com/l/_hMSkcVY4MdN5
https://dl.doubtnut.com/l/_fUSdEVx0vBFf

‘ ° Watch Video Solution

5. Factorise:

p? —2p—35

° Watch Video Solution

6. Factorise :

p> — Tp — 44

° Watch Video Solution



https://dl.doubtnut.com/l/_fUSdEVx0vBFf
https://dl.doubtnut.com/l/_OCGXIme1Y1rM
https://dl.doubtnut.com/l/_xTixFv2mVZaj

7. Factorise :

m? — 23m + 120

o Watch Video Solution

8. Factorise :

m? — 25m + 100

o Watch Video Solution

9. Factorise :

322 + 14z + 15

| o Wiakt~hh \NiAdAaA CAliikiAan


https://dl.doubtnut.com/l/_zj6MdxXG4xQO
https://dl.doubtnut.com/l/_wvSGGJ0S9hsg
https://dl.doubtnut.com/l/_BPbfVj85czyR

10. Factorise :

222 + x — 45

o Watch Video Solution

11. Factorise :

20z + 26z + 8

o Watch Video Solution



https://dl.doubtnut.com/l/_BPbfVj85czyR
https://dl.doubtnut.com/l/_xKdeXjdtBvEB
https://dl.doubtnut.com/l/_Kto25KynaDz5

12. Factorise :

Mz —x — 3

o Watch Video Solution

13. Factorise :

x> + 64y°

o Watch Video Solution

14. Factorise :

125p° + ¢°

| o Wiakt~hh \iAdAaAn CAliikiAan


https://dl.doubtnut.com/l/_SPPrN6AQ0Cwd
https://dl.doubtnut.com/l/_RFNH3u3v18gm
https://dl.doubtnut.com/l/_RJlXzRPwuJDf

15. Factorise :

125k% + 27m?

o Watch Video Solution

16. Factorise :

21 + 432m3

o Watch Video Solution



https://dl.doubtnut.com/l/_RJlXzRPwuJDf
https://dl.doubtnut.com/l/_12IQrHwouYZr
https://dl.doubtnut.com/l/_LoI71lVoUPCe

17. Factorise :

24a> + 81b°

o Watch Video Solution

18. Factorise :

3 4 1

o Watch Video Solution

19. Factorise :

8
3
Tt

| o WMiabkl . \tdaa CaAliidkiam


https://dl.doubtnut.com/l/_iAt4cjWWJGUP
https://dl.doubtnut.com/l/_iBE3KcFBfnCj
https://dl.doubtnut.com/l/_1YdSWuszZAFu

\ ______Vvdlilll VIUCU JUVUIULIVII

20. Factorise :

q3

1+ 795

° Watch Video Solution

21. Factorise:

y3 — 27

° Watch Video Solution



https://dl.doubtnut.com/l/_1YdSWuszZAFu
https://dl.doubtnut.com/l/_Cr0anWnlBU8a
https://dl.doubtnut.com/l/_rwOnHVR19Frp

22. Factorise :

z° — 64y°

o Watch Video Solution

23. Factorise :

27m3 — 216n°

o Watch Video Solution

24. Factorise :

125y° — 1

| o Wiakt~hh \iAdaAn CAliikiAan


https://dl.doubtnut.com/l/_HwUUNOL3f06D
https://dl.doubtnut.com/l/_nLXYTp7iFLJR
https://dl.doubtnut.com/l/_tVpdpjYt6WWG

25. Factorise :
27
8p° — —
p

o Watch Video Solution

26. Factorise :

343a° — 512b°

o Watch Video Solution



https://dl.doubtnut.com/l/_tVpdpjYt6WWG
https://dl.doubtnut.com/l/_Yg0yKxx7JeBW
https://dl.doubtnut.com/l/_Wm4w9Msldt2d

27. Factorise :

64x® — 729y°

o Watch Video Solution

28. Factorise :

128

3
160, —?

o Watch Video Solution

29. Simplify :

(z+y)° - (z—y)°

| o Wiakt~hh \iAdaAaA CAliikiAan


https://dl.doubtnut.com/l/_dvLhq9hrQr9j
https://dl.doubtnut.com/l/_JcdgZ2azoZMX
https://dl.doubtnut.com/l/_lCBOGgsQukuR

30. Simplify :

(3a + 5b)° — (3a — 5b)°

o Watch Video Solution

31. Simplify :

(a +b)°—1° —p°

o Watch Video Solution



https://dl.doubtnut.com/l/_lCBOGgsQukuR
https://dl.doubtnut.com/l/_FXZdpOHREPIk
https://dl.doubtnut.com/l/_IMF8S1iorauJ

32.Simplify :

P — (p+1)°

o Watch Video Solution

33.Simplify :

(3zy — 2ab)® — (3zy + 2ab)*

o Watch Video Solution

34. Simplify :

m2 — n? m2—|—mn—|—n2
— X

(m +n)’ m3 — nd

.


https://dl.doubtnut.com/l/_ycvwk2sIKOxn
https://dl.doubtnut.com/l/_xaKaDaAl6vFz
https://dl.doubtnut.com/l/_Gc5umlvzhPOl

| ¥ vvatcn Video Solution

35. Simplify :

a2 +10a +21 a2-1
X
a2+ 6a — 7 a+3

o Watch Video Solution

36. Simplify :
83 — 27y3
4x2 — 9y?

° Watch Video Solution



https://dl.doubtnut.com/l/_Gc5umlvzhPOl
https://dl.doubtnut.com/l/_7MX937oeapla
https://dl.doubtnut.com/l/_bRlq0YzN6bwE

37. Simplify :

z2 — bx — 24 x2 — 64
X
(z+3)(z+8) (z-8)

° Watch Video Solution

38. Simplify :
32 —x — 2 .3332—751;—6
x2 —Tr+12 ° x2 —14

o Watch Video Solution

39. Simplify :

422 — 11z + 6
1622 — 9

N


https://dl.doubtnut.com/l/_5rcjoZo1xvtY
https://dl.doubtnut.com/l/_atFekm0rPR4i
https://dl.doubtnut.com/l/_w39GlKGFBEOz

| W Watch Video Solution

40. Simplify :
a>—27  a*+3a+9

562 — 16a +3 = 25a2 — 1

° Watch Video Solution

41. Simplify :

1 — 2x + 2 " 1+ x4+ x2
1 — 23 1+

o Watch Video Solution



https://dl.doubtnut.com/l/_w39GlKGFBEOz
https://dl.doubtnut.com/l/_nmcIsrqYHq09
https://dl.doubtnut.com/l/_pzKMpoYSNMev

42. Choose the correct alternative answer for each of

the following questions :

2 2

fm—=x+ —andn=x — — ,thenm” —n* = ?
T T
A.2
B.4
1
C.z> — —
72
2
D.2x% — —
72
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_zNdAshNuYtAE

43. Choose the correct alternative answer for each of

the following questions :

The factors of 22 — z — 12 are ...

A. (x-3)(x-4)

B. (x+3)(x+4)

C. (x+3)(x-4)

D. (x-3)(x+4)

Answer: C

0 Watch Video Solution



https://dl.doubtnut.com/l/_5VXJzj5SnAvk

44, Choose the correct alternative answer for each of
the following questions :
Which of the following are the factors of
6z> 4 5z — 6?

A (2z + 3)(3z — 2)

B. (2z — 3)(3x + 2)

C. (2 + 3)(3z + 2)

D. (2 — 3)(3z — 2)

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_d6XzDwMfk96d
https://dl.doubtnut.com/l/_EH1G0pmVghDG

45. Fill in the blanks :

z? — 10z +24 = (... )(.n L)

° Watch Video Solution

46. Fill in the blanks :

2 — 10z — 24 = (oo ) (ennn )

o Watch Video Solution

47.Fill in the blanks :

6z>..... —10 = (2 — 5)(3z + 2)

o Watch Video Solution



https://dl.doubtnut.com/l/_EH1G0pmVghDG
https://dl.doubtnut.com/l/_UyMIZDf8hA8e
https://dl.doubtnut.com/l/_DB7eKhC3aEth

48. Fill in the blanks :

9(4z2 — 12)" = [...(42° — ?)]"

° Watch Video Solution

49, Factorise :

2 + 25z + 144

° Watch Video Solution

50. Factorise :

z2 + 2z — 63


https://dl.doubtnut.com/l/_DB7eKhC3aEth
https://dl.doubtnut.com/l/_SRxEpuQ7z5Z7
https://dl.doubtnut.com/l/_5zmMUuksULJB
https://dl.doubtnut.com/l/_xz9rIaLpys4C

o Watch Video Solution

51. Factorise :

p? — 2p — 120

° Watch Video Solution

52. Factorise :

27z + 125y°

o Watch Video Solution



https://dl.doubtnut.com/l/_xz9rIaLpys4C
https://dl.doubtnut.com/l/_AJGJ4GpicUVR
https://dl.doubtnut.com/l/_KTiiKD5XkuH2

53. Factorise :

° Watch Video Solution

54. Factorise :

216-125x%3

o Watch Video Solution

55. Factorise :

7z + 18zy — 9y°

| o WMiabkl .\ tdaa CaAliibkiam


https://dl.doubtnut.com/l/_NeheW2e7khgL
https://dl.doubtnut.com/l/_snPyA18jOTdA
https://dl.doubtnut.com/l/_hJrJUlP1vVgJ

\ ______Vvdlilll VIUCU JUVIULIVII

56. Factorise :

5z — bry — 360y°

o Watch Video Solution

57. Factorise :

6m?> — 25mn — 9n?

o Watch Video Solution



https://dl.doubtnut.com/l/_hJrJUlP1vVgJ
https://dl.doubtnut.com/l/_DOa0jUXpuBOt
https://dl.doubtnut.com/l/_I0jrM9Sho5Mo

58. Factorise :

21p% — 23pq — 204>

o Watch Video Solution

59. Factorise :

(2z — 3y)°® — (8z* — 279°)

o Watch Video Solution

60. Factorise :

(3z + 5y)3 — (3x — 5y)3

| o Wiakt~hh \iAdAaA CAliikiAan


https://dl.doubtnut.com/l/_mK9KXPdYFczp
https://dl.doubtnut.com/l/_2VZMWgWJ1TiA
https://dl.doubtnut.com/l/_HIpYHDihrECv

61. Factorise :

a’ — 5a — 14 y 202 —a — 6
a? — 4 2a2 — 13a + 21

° Watch Video Solution

62. Simplify :
2a3 + 5a%> — Ta _ 2a® + a® — 2la

202 —7a+5  2a2 — 1la + 15

° Watch Video Solution



https://dl.doubtnut.com/l/_HIpYHDihrECv
https://dl.doubtnut.com/l/_RNPeFUzuX4DB
https://dl.doubtnut.com/l/_BRgeiTInxY2G

63. Simplify :

¥y —3y+2 2 —5y+2
Y +y—2 2y 43y —2

o Watch Video Solution

64. Simplify :

2+ 4z —21 2 -8+ 7

x2 —9

X -
22 -9 +14 2246z -7 x24+2—6

° Watch Video Solution

65. Simplify :

22 +2c—-15 [ 2> -8z +15

222 — 11z + 5

22 — 9z +4 | 222 — 11z + 12 ~ 222 + Tz — 15

| &

|


https://dl.doubtnut.com/l/_HAvTPyerdPMe
https://dl.doubtnut.com/l/_sSmsK9TJDtTE
https://dl.doubtnut.com/l/_Oi7mrCU3pwBg

| W Watch Video Solution



https://dl.doubtnut.com/l/_Oi7mrCU3pwBg

